________________

| oS 500000000000 00000a00000000000000000000000000008a0008 000000000 Chapter 3

3.1 #Hl % #H

BAETH I 9 2R8I 2UFR L #5807 (Machine Data) , B I 3678 1) 3L S5 BUE AR N
“EAEH” (True Value) . THR-HLIE i — 30 i K07 i 6 H B & 1 BIL A 50 0 RE ol — 2E W 4K
50 A1 1 RFER . K 3-1 2 BIUEH] T HLAR B BR8] A X 6 2R

£31 NEBEEEZEHNEXR

BEHTH WLEF B R A IE 50 X R B HAE
fi 7 6 5 4 3 2 1 0
HE L ol1li1lol1l1lol1 109 5k 1101101B

311 FH/NEHE

1. #F

T (Word) 2 AL AR S — > 88 A g A7 b B — k0 (S LA 31D L
(852 BP9 77 (Word Length) s RKAR &5 35 Pl B 02 5 19 e KRG L .

g
B ERh MsB | n=1n=2 2 10 AR LSB
(Most Significant Bit) | | | | | (Least Significant Bit)

B 31 FRAnMHPF

T (Byte) A5 B A B HEATHR AL, — AT AT A 8 L SB[k,
16,32 F 64 LA o0 B AT AN 2.4 18 AT

oI HES 5 BB AT, — PR o A2 T e 2 RE S s ) 27 AN [R] A o ) KR
. Hor  BUE 2" SRR N IZ T BB (Modulo)



2. P EE

BAE 0 S AL AL E S i /NEBUROCR B E 1 DB A B 2 0 S R .

TENL A B DNBOR AL B R B E 1R E . DB AL I T A LU PR

(1) & i (Fixed Point) %, 751z 53 B v/ INEUS A7 B A6 28 [ i A2, X 55 8 /)
BRI RN ELRML. Bl .

ARHIE . X XX XX XX X X X XX XX XX,

i/ NBIE L XXX XXX XXX XXX X X X

HHANEIE L XXX X XXX XX X XX XX XX

(2) ¥ 5 (Floating Point) %, 7512 5 b #2 vh/INEUS A 7 8 AT AR 9 S5 PRl 2R e 2
TERRE R RE /N . il

124.5=1. 245X 10> =0. 1245 X 10% = ---
AL B SR VE R B NS B 7 BN ] B RN R AN AR Y
TR EE AR B (Mantissa) .35 %% (Exponent) FlE 2L (Base) =384 o

3 e
0.1245X\1£)J
BE AL
Horr, B BUREUE WA R0 5 BECT /MR R R TE S B B EBUE L PR B R
8 Ok B 1 . IRBUE R BEE AN, — AT AL A A S

312 BHRSEHERTE

FEFF B B+ 7 QD =7 (0 £F 5 02 T % F AR R0 i HURE T — 2 i %
FOR L ORARIC . B IE 00T AR L BORAE — T 0 g A AL MSB B A7 AT
FRRC I OL R AT L. BB E BRSBTS BB BL AR ROl 2 Bl R R
B

L. R

TERL &R E b o a0 SR BB e XE T SRR R =S 4 BT 001 FROR IR
23X PR IE AR O < )5S 7 (Primitive Encoding) , i W[ x]g o P x EAE, [x]FRR
FAE A x BIPLEREL, T AR I R iz Wl 800 Il KR B 2.

(61 3-11 &Ky 8, Z kil & +10110 F1—10110 Yy J5H 7353

[+101107, =00010110
[—10110], =10010110
— M FRN o RS AT E SR
[X]u;i - {X - ’ <j =
(10" —x), —2""<<x<0
Ho, Bl xCEFOMFERBEE — @ ' —D<x<2"'—1, BESLEME T2 FExR



’@ [(mowupngessncswo |

HA g g o —BE gL

JEA 7 1 B 2 i L B U 2 I A e 4 o AR 6 O . (ETE S HIL A D 2 A oz
SR RS T TR FEBURR . A A BORH ek S AR AT R 4 X R /N R
R SE S 1 AR AT D 2 2Rk B BRI AT S .

2. AMFG

T AN Gs Fd AR L SR T AME I . R 1AM R ook R — A~ A
R (S Wk 3-2).

®32 HHXR

L TR N2 HE I (CEAED N
e HLEEO — ik e
0111 111 7 R IEEL
0110 110 6
1 0101 101 5
0100 100 4
ﬁ 0011 11 3
0010 10 2
0001 1 1
fa 0000 0 0 118
1111 —1 —1 0000—1=10000—1
1110 —10 —2
1101 —11 —3
@ 1100 —100 —4
> 1011 —101 -5
W1 1010 —110 —6
1001 —111 —7
1000 —1000 —38 N

WA —A> 4 AL 3 0m /w Ed s B9 BI(E 0000 FF 46 43 5 #EAT Im 1 98
b8, MR a0 X F 8B 0~7 M IEBOR UL, THECES 19 B = A 360 051 % F
INT OB /NT — 8 W THEUEL R U T B B s A AU 1 R 7E — 8 BT EGE BTN
THECAS 5 R A R IR A AT DR >k 3R B0 IE

HEREIHEERAE 0000 RAET W 1 IGO0 B AL EPr it o mm i &l T
TEALAE T X BB 10 1 25 5 i 2 55 10000 —1 WIS R 2SN . Bk, X1t
BUE x /NT 0 B 3B I N A (DL 20 S B B 228 sian T IE

(10000+x), (—8<x<C0)
Hdr,10000B=2" 32 4 (i ECEF A 87, SEPR b3 3-2 it Bds N A W] LGl DL
M (Complement) %8 X 77 K2k R



Cx 0Tx<<2"!
[X]“{Uo%x)z — 1< x<0
Hrpon BFKHMAE <CEBO MR RBEEZ: —20'<<x<2" ' — 1, % %0, =
2" TR,
[613-2Y &K 0 8 A 4E L i #Mis e S, ml 23 5105 i~ ikl 5+ 10110 F1—
10110 fy#MS
[+10110]; =00010110
[—10110], =100000000—10110=11101010
F RS 1 2 SCRT R AN R A OB AN I 2 LA R R .
[x]y +[—x]p=10"B (—2"'<<x<2"'.n HFEK)
X F W [x Ty 51— x Dy AR T0"BCRE 27) J& B M 4 o 45— ) gl 2 e i o . R A
Fon WAL EORT Ak sis B R
L61 3-31 I FH M AE A& o8 i — i i B it 28 55 . 110— 11,
BT 110—11=110+ (=11 FF X I EE ) 4 AL AMS A
[110]4 =0110, [—11],=1101

FME T F Lt
0110 110
+ 1101 — 11

ﬁm%ﬁL 1 0011 11
L5 3-41  F) T #0 A5 AE & 58 1l — 20 I R el s ds 35 . 100— 111,
T 100 —111=100-+ C(—111) , ¥ X W85 1 4 745K
[100]4 =0100, [—1117],=1001

AN Ty A FIi5E.
0100 111 €I USRI
+ 1001 — 100 Y145 457 5 R )
1101 —11 (R B 5

R AABEHERMAAND, B TABEFERGF T LA, KA ECRLA AR
HoeH AR AN @A 32 T AN 11, X5 F L o RT -85,

AT B A5 AT L P A B 2 2 B4 AL O (E T AR 25 ks B L T HLAE ks 8 ad
R HR S 2 TR PN B /NVRIE B, RO g A6 T i iskazs 33 5 7

3. R

BRAME ] DL Z 083 5 (E AR B A D 8 OOR AMB AT T o s B i 3-2, N
T ke R sR AN o B P A B L R T S (Invert Encoding) AR &
SRS ) 5E 5 MG ) 8 L2
[x 0<x<2""!
Lxd o —1+x%, —27'<x<0
Forbon I B xCREO MR — (20— D<x<<2 ' — 1,



______ .@ ) [ pnRESS6 GRaR) |

(61 3-51 &K 0 8 ARG L i A% € X, v] 4355 Wi~ 3 dil$+10110 F1—
10110 11y S it

[+10110]z =00010110
[ —10110]gz =100000000—1—10110=11111111—10110
=11101001
EER: A LA F
10"—1=11---1B
HHENL, IHE—AnE2A TR AR x AN ERRATAH x BERRE: 1—
=X (U=0~n—DZXAH ELTR B H R,
(6] 3-61 ¥ FK A 8, % Z#E I — 10110 B U (Fi 7 K A6 & AL BUR AR A8 2
7 F O #h ) Hy 25 R 2
Hff: —00010110
A . 11101001
AL B 58 R R A B A 45 SRR — B0 (2 LB 3-5)
Xof HECRIMIth 1 S it o SCT T s S B0 B A 2t e A O 1 AR B . BRI W] RAAS 3 DL
[x]yp=[x]g+1 (—2""'<<x<<0)
T AE TSI b X AR B R R T A TR BT D A A B — S B R R
RIS O R A AR 5 PR OB AT 1 s SR LA T .
(6 3-71 G % — 10110 9 SR B iy A
[—10110]4 =[—10110]; +1=11101001+1=11101010
HR A b TR A 5 R RS 2 (8] O 2R L i AT DA B — ol B a5 R ERORh R Y
T3 ¥ s BI85 1) S AR AT 850 CLSB) 4 R 1) 72 o B 3038 L35 — > 17 A 1k 9 BT A 4K
FHAAZ CRLERIX A7) 5 — A 17 LUG 45 0807 4 BB R . L 306 2 AH B - K Rk
1E. .
kR —OOOlOl}JQ
G E 11101010

313 MFHNBHEE

BRI 5 B 2 T] 6 7 O ZR AN R D A IR A EDUR L T B . IR, an el A e
BRI BT X I 1) EL A WE 7
FH I T A 28 1 P A B oA RBOR AN E R [xy 0 —xJy =2 FIAMS A & L. AT LA
3 3
[—xp =2" =[xy =[—[xJu Jn
W FLAE x B RSP IBORD 5 T AR BB — x AN o B AT R B T LA R 0] AL i AR
m%z@mwrf%omm:



A A
[+11010B],, =  00011010B
ms mh | (1)
[-11010B],, =  11100110B
it mi | (1)
[+11010B],, =  00011010B

IAHR] I, LB HRCA 50T g AL A SRR A S AN Y . TR L B R x R A R
—UCHb L RE S 1% 5 BOM SO — x GEBO B AMS [ —x Dy » B T AIEE i &b vpoa) DL
T B Y AR DR T 3 2 A BB — x (— x> 0) B9 B A T LA B 5 x B9 B T

[ 3-8 B ablesdi x]y =11100111B,3K x,

o T X MY R A5 A (MSB) 2 1. E R EAE x /T 00 X 3% A i FEBORb , BRI 75
B EAEAH R — x YA

[xT4 = 11100111B

ﬂyﬁl Ez%bl(ﬁzmu )
[x14 = 00011001B

HL—x]y T EZES E —x EUE 110018, #1153 x I EUE » — 110018,
314 HEMBZE

1. APNAD Je ik

M A =k
[xt+yly=[x]y +lyly (mod 2"
Hopr, =20 <Ix oy oxby<2" U xRy R 0 K mod A IURIZ ST mod 2 FRIR N
LI AR UG n A8 i B 25
Ry 4 R B0 R B WY T ARG ik 2 =
(D) 24 x=0,y=0 W}
K
[xlyp=x, L[ylyp=y, xty=0
Fr LA
[xtylyp =xty=[x]y +Lylxs
[ 3-9) &FEK NS, —3EH % x=10111,y=10010,3K x+vy,
[x]y =00010111, [yJy =00010010
[x+yly=000101114+00010010
=00101001
00010111
+ 00010010
00101001




______ ’@ ) [ B pnRESse G |

BTS00, 45 R IE, r A x-+y=101001,
(2) X4 x=0,y<<0 H x+y<<0 W}
I Ay
[xly=x, Lylyp=010"+y),, x+y<0
JI LA
[x+ylyp= Q0"+ x+y),
= x+ (10" +y),
=[xy +Lyls
[ 3-10] &FK N 8, @kl x=10010,y=—10111,3K x+y,
[x]y =00010010, [yJy=11101001
[x+y]y =00010010+11101001
=11111011
00010010
+ 11101001
11111011
HFRFS 0 1, 45 0 i, HAE R B 45 2 [ — (x4 y) i = 00000101, fiF LA
—(xt+y)=101,x+y=—101,
(3) X4 x=0,y<<0 H x+y=0 B}
oy

[x)yp=x, [yla=00"+ty),, x+y=0
it LA
[x+ylp=x+y
= (10", + (x+y) (mod 2™)
= x+ (10" +y),
=[xy +Lyln
[ 3-11) XFK N 8, —#HHIE x=10111,y=—10010,3K x+vy,
[x]y =00010111, [yJu=11101110
[x+y]y=00010111-+11101110 (mod 2%)
=00000101
00010111
+ 11101110
Wﬁ%ﬁLl 00000101
T x+y>0,H L x+y=101,
(4) 4 x<<0,y<<0 W}
Ky

[x]y=010"+x),, [yly=00"Fy),, —2"'<<x+y<0
Fr LA



[x+yly=00"+x+y), (=>0)
=(10"),+ 10" +x+y), (mod 2™)
= (10" +x), + (10" +y),
:[X]%b+[yj%%
(6] 3-12) &FK N8, —dF#HlE x=—10111,y=—10010,3 x+vy,
[x]y =11101001, [yJy=11101110
[x+y]y=11101001+11101110 (mod 2%)

=11010111
11101001
A 11101110
gy | 11101110
1 11010111

BT 1, 85 38 8 i, HAH OB 85 h [ — (x+y) ]y = 00101001, i LA
—(x+y)=101001,x+y=—101001,

2. ANEG R

AR A R
[x—yly =0"+[x]y —Lyly). (mod2")
Hop, =2 Tixayax—y<2" ax Al y BB TR
WE A A BB 10" BCRE 27 ] AR Ay = 24 [x ]y <Ly Jw B BB AE R il iz B i 15
PifE s S x g =Ly Jy B ERE T
T 3 AN O AR OB A DG R Ly 1y L~y = (10", FIAME AL 23 20, AT DU Hh
T AR g A
[x—ylu =[x+ (= ]y
=[xy +l—vla (mod 2")
=[xJy 10" =Lyl
= 10" +[xJy —Lylw):
(6] 3-13] %5 KH 8. — %5 x—10010,y=10111.5% x—y.
[x ]y =00010010, [yly=00010111
[X*y]%:IOOOOOOOOﬁLOOOlOOlO*00010111 (mod 2%)

=11111011
X
00010010
1 |
— 00010111
11111011

HFRFS0 o 1, 4580 i, HAH R B0 45 [ — (x— y) 1y = 00000101, fiF LA
—(x—y)=101,x—y=—101,
(6] 3-141 &FKHK 8, i HlE x=—10111,y=10010,3K x—y,



______ ’@ ) [ pnRESS6 GRaR) |

[x ]y =11101001, [y]4 =00010010
[x*y]%:1000OOOOO+11101001*00010010 (mod 2*)
=11010111

Fefsfer 1 11101001
CED — 00010010
11010111 (mod 2°%)
HFRFS A 1, 45 8 0 . A R 465 8 [— (x — y) ]y = 00101001, iy
Pl —(x—y)=101001,x—y=—101001,
TE FEAT A 0 sz B, R E AR LS.
(1) RS s 119 3 53 235 3 AT SR 4
(2) M AF5 A2 B — 3 20 B IR HAl 6 — S i 5
(3) AR REE BRARM . AEFK R n M MEL T, BEWRREEZ—2"'<
x<2" ' —1,
AN IR ) 2 GA 4 SR A A5 A e Y B L 5 U & R TG vk 2 T B R (Overflow) .
(6] 3-15) KN 8. —#F#HI% x=—1000110,y=—1000001,3 x+y,

A Ky [x]y=10111010, [y]y=10111111
B LA [x+y]y=101110104+10111111 (mod 2%)
=01111001

HEAF B x+y>0 BYERIRER AR 00 U AR i T (s S 4R .
x+y=—10000111
Tl T 8 AN T BR — 10000000,
(61 3-161 FK 4 8, ikl $ x=1100100,y=—110010,3K x—y,

A Ay [x]y =01100100, [yJy=11001110
Fr LA [x—y]y =100000000+01100100—11001110 (mod 2%)
=10010110

H A 2 x—y<<0 RS EREE R, A A I M 2 th T H B R AR,
x—y=-+10010110
C 7 8 AL AMS R EFR 41111111,
A — 0 S+ FUAT 5851 5O o A 555 A0 A4 W1 8 B
T A S5 5 J8OAR A v A () 5 B8ORH k) S B A 25 23 1) 268 Xof 738 7 B /0, 2 A ] R B i
.

315 EHMARNELREBE

TEFHE LA 38 5 ) I3 12 53 25 SRR IR P AR R i il o 3 3-3 g i
9 777 35 AT LA e A B TR B R/ G AR



® 33 HHREAE

TS a.b B Ly 74 BHRFSH x.y Wik
s E SR J VR A 4 FIWEER | B RER J R A 41 F 1 25
a—b>0 T B2 54E 0 a>b x—y>0 Zi RIEAHAE O x>y
a—b=0 LEHLH 0 a=bh x—y=0 i Ko x=y
a—b<<0 AN a<<b x—y<<0 gl SRl x<y

TERLAS B o 380 2 A (DR 25 R 40 Wi W A T8 A5 5 B0 /N 2 b e 7 i o {HL I 2ok 25
P18 A4 52 2k S BT 7 > A A5 50 RV ) 118 DR /N DU A8 A JRR T . 8 5 AN R T8 e i 7 AR 2 ok A
W B AT RN o B A T 2R T A S5 ORI e T PRAT 2 AR s 3L S DR B B .
FLUR o AH U 25 SR 1 1E A AT RE PR AR S R IR R s . A T TS BN KN L TE
AL 847 (Biased Encoding) RF/R A58 Frig B S8 A 75550 <
FIEIRES(E B S B MU JC A S A B

[x]g =B+x
H B E B A — N IERE% T HME x S/ i, HE x B9 BUEA G A
5 Pl B FRRE

FRKN n RS 5 M Y Z[8] Y 5C R -
[x]g =B+[x]y (mod 2™
Horbr, x OB R — 20 ' <x<2" B IERGEX H B= [ x| =27, N
FIH T 8 ALAME FE 5 LA = [E] XN & .

E{E X %l\ﬁg’[xj%r %ﬁ%[xjfz
127 01111111 11111111
126 01111110 11111110

1 00000001 10000001

0 00000000 10000000

—1 11111111 01111111
—127 10000001 00000001
—128 10000000 00000000

AL BN O A A5 B A Dy TR A B8, PR T UG A W TC A 5 FOIR A R 1 1 % )
IR/ e B TR 1) RN G R 500 B LB Y RN 5C R —FERY L B 5 AN 1 5 4 3+ 4
D7 A8, BT LAA] D3 5ok 7% Bt ] 422 b ) W 465 CB A 5850 19 K/

(6 3-171 &K R 8 il % x=1010,y=—10100, 43771 FHl #Mt F1FE A5 114 K U5 45
RRHE x fly RN

T [x] =00001010,[y ]y =11101100

[x]g =10000000+[x ]y (mod 2°)=10001010
[y]g =10000000+ [y ] (mod 2°)=01101100



